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Task | HOme ASSIgnment (SNorLong questions)

Execution of task Printed assignment may be given after completing the
chapter.

Duration 2 days.

Criteria for assessment Follow Rubric for H.W/Assignments

Follow up. Reference material in the form of important points to
remember can be given as a support material.

Home Assignment: Short & long Questions

1. The coordinate of the mid point of the line joining the point (3p, 4) and (-2, 2q) are
(5. p)-Find the value of p and g.

2. The consecutive vertices of a parallelogram ABCD are A(1, 2), B(l, 0) and C(4, 0).
Find the fourth vertex D.

3. Determine, whether each of the given points (-2, 1) (2, =2) and (5, 2) are the vertices of right
angle.

Find the point on x-axis which s equidistant from (-2, 5) and (2, 3).
If the distance of p(x, y) from A(S, 1) and B(-1, 5) and equal. Prove that 3x = 2y.
Show that the points A(S, 6), B(1, 5), C(2, 1) and D(6, 2) are vertices of a square.
Show that the points A(2, =2), B(14, 10), C(11, 13) and (-1, 1) represent a rectangle.
Show that the points A(1, 0). B(5. 3). C(2. 7). D(-2. 4) are the vertices of a thombus.

R I

Prove that the points (-2, 1), (1, 0). (4, 3) and (1, 2) and the vertices of parallelogram.

10.  Find the lengths of the median of the triangle whose vertices are (1, —1), (0, 4) and (-5, 3).
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11 Prove that the diagonal of a rectangle bisects each other and are equal.

12, Find the ratio in which the point (11, 15) divides the line segment joining the point (15, 5) and
9, 20).

13. Find the ratio in which the point P (m, 6) divides the line segment joining the point
A(4, 3) and B(2, 8). Also find the value of m.

14, If two vertices of AABC are A(3, 2), B(=2, 1) and its centroid G has the coordinate
(5/3,=1/3). Find the coordinates of the third vertex.

15, The co-ordinate of the mid point of the line joining the point (3p, 4) and (<2, 2q) are (5, p).
Find the value of p and g

16, The consecutive vertices of a parallelogram ABCD are A(1, 2), B(1, 0) and C(4, 0). Find the
fourth vertex D.

Task-6: Remedial Worksheet
Topic Coordinate Geometry

Nature of task Delivery of content/Post Content

Content Coverage Plotting of points, Distance formula, Section formula, Area
of triangle.

Learing Objectives To provide remedial measures on specific topics based

on individual needs.
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